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Govt. J. Yoganandum Chhattisgarh College, Raipur
Autonomous Cell
Special Examination-2020
Assignment Questions
Class — B.Com./B.A. / B.Sc.Part-II
Subject — Hindi Language

M.M. : 25

Note : Attempt all the questions and each question carries equal marks.

Ql | \e 3R sffgwn’ e &1 AR e ¥real & fIRay |

Q2 | faSITaT 1 AT T ISTER0T U BT |

Q3 | 9= f&d Ped © 3R 39d fray UHR & 90 §Y I8 S |
Q4 | #IYH Mdy o1 AR U vl | forey |

Q5 | fy=foRad i el &7 fR=dY R forRkaw -

1. Chief Minister

. Accountant

2

3. Computer
4. Agent

3

. Cashier




Govt. J. Yoganandum Chhattisgarh College, Raipur
Autonomous Cell
Special Examination-2020
Assignment Questions

Class — B.Com./B.A. / B.Sc.Part-I1
Subject - English Language

M.M. :

25

Note : Attempt all the questions and each question carries equal marks.

Ql

Expansion of an idea(any one)
(I) Everything that glitters is not gold.

(1) Where there is will, there is a way

Q2

Report Writing (any one)
(I) NSS/NCC Camp attended by you.

(IT) Covid-19 Awareness program run by government.

Q.3

Question/Answer

(I) Who is know as the legendary Indian founder of medicine.

(I) How did Ramanujan lose his scholarship?

Q4 (A)

Give antonyms of the words

Pxhale, simple, fatal, mortal, rapid

(B)

Read the passage carefully and attempts the questions given :

Secularism is the very soul of Indian society and the democracy. India has a tradition of

co-existence tolerance, co-operation and mutual respect between all its social and

religious groups. Islam came of India with Muslim conquerors. A large number of

natives turned Muslims over the period and presently they make the second largest

community of our nation. The contribution of Islam to Indian culture and civilization

has been spectacular. It added variety, colour and richness to native heritage. Islam

enriched India with architectural wonders, the most precious being ‘Tajmahal’ the




symbol of aesthetic India. Christianity had preceded Islam to India. St .Thomas, the
twelve disciples of Christ arrived in India to preach his message when St. Peter was in
Rome. Paris came to Indian in 8" century to escape from religious persecution in Iran.
They brought Zoroastrianism. Jews sailed to India 2000 years ago to settle down in
Mumbai, Pune, Kochi and Delhi. Hinduism itself was a religious conglomeration of
thousands of sects having distinct beliefs, rituals, customs and practices. Nearly three
religious branched out of it, namely Buddhism, Jainism and Sikhism having separate
places of worship and holy books. In all, India remained a shining example of unity in
diversity, nowhere else found in the world.

Honouring this eternal spirit of India, our constitution makers declared our nation
to be a secular state without any discrimination. Although the people of our country are
deeply religious yet they don’t harbour any ill will or intolerance against other faiths.
Even during the freedom struggles the leaders who led it made secularism a basic policy
to rally all the people against the British. The secular polity was fiercely strengthened by
Mahatma Gandhi, Himself a deeply religious Hindu, He had great respect for all other
religions and faiths.

To divide the Indians, the colonial rulers tried to destroy file spirit of secularism by
aiding and abetting communal forces. Some of our people forgot that sacred tradition and
played in the hands of British. Our country paid a terrible price for that lapse. India got
divided into two nations and we lost father of, the nation, Mahatma Gandhi, to the bullets
of a degenerated fanatic who no use for or secular legacy. It should teach us a lesson that
only secular spirit will keep India going.

Question :

Q.1 What has been the tradition of India?

Q.2 Which religions came to India from abroad?

Q.3 What is the most precious gift of Islam to our country?
Q.4 What price India paid for its lapse in secularism?

Q.5 Give a suitable title.




Q.5

Do as directed (any five) :

(i)
(ii)

(iii)

(iv)

(v)
(vi)

This stupa is very Old. Itisthe.......... In the world (Superlative degree)

Ask the women what she....... (want)? [Fill in the blank with present indefinite form of
verb].

Dithi ........(read) a novel now. [Fill in the blank with present continuous form of verb].
By the time the ambulance. ....(arrive), the patient (die) [Fill in the blank with past
indefinite or past perfect of the verbs given in the bracket].

Fill in the blanks with suitable modals :

WE ciiiiiisnommns aim at noble goals (desirability)

TheY s gladly accept the offen (willingness)




Govt. J. Yoganandum Chbhattisgarh College, Raipur Autonomous Cell
Special Examination
Assignment Questions
Class — B. Com. Part-II
Subject - CORPORATE ACCOUNTING
Paper-1
M.M.:25

Note :

Attempt all the questions and each question carries equal marks.

Q.1

B B Y Yoll B geanT for g Aol | fovar Wi &, ST avi B |

Explain the main categories in which the share capital of a company is divided.

Q2

X, Y,Z S U GO H ©| SHD! Yol 9 USR © : 200 YEIEBR 379, 100 T awl
qufeR, 4000 AT 3T 10 X ATl YUIGT, 500 WHAT 37T 10 T ATl (WY 31T W & T gobel oy )
OOl & Y @ foly Q@iftdR e ST FHaT 3R R IAHear 81 IR oMeR 12000 T qen
U @1 ol R R $1 uiivsiie ol i 71 1000 | 99 @RRIE WG @l 0
fidi el € 25500 T Ul U SR MG eRl ¥ 5000 T MR @ Wit gV <nif¥d gHr W
T S W R B T | g W G R 9 & T, W 100 S W I8 AT B IRy
yIe S g% | (RS @1 a1 fdaRer @ a8y |

The X, Y, Z co Ltd. is in voluntary liquidation. The capital of the company consisted of 200
preference shares of ¥ 100 each fully paid-up; 4000equity shares of ¥ 10each fully paid; and 500
equity shares of ¥ 10 each (X 8 per share paid-up). The preference shares have priority over
equity shares to repayment of capital.

The unsecured creditors amounted to T 12000 and expenses of liquidation, including the
liquidator’s remuneration to I 1000. The unencumbered assists realized ¥ 25500 and T 5000 are
received as surplus on behalf of secured creditors. A call on partly paid equity shares is made and
realized with the exception of the amount due on 100 shares which cannot be recovered. Prepare
the liquidator’s final statement of Account.

Q3

fefeliRae el ¥, 3T Ml @ Yolldrul e gRT @aTid @1 T DI |
(i) arifdss 3ivTd @ : 80,000 ¥

(ii) M YT B R - 10%

(iii) BT FERIET (@M @l BISHR) : 10,00,000 T

(iv) 9129 ST ¢ 4,00,000 T

From the figures givin below, calculate good will according to the capitalization of Average
profits method :

(i) Actual Average profits : T 80,000

(11) Normal rate of return : 10 %

(iii) Total Assets (excluding goodwill ) : ¥ 10,00,000

(iv) Outside liabilities : T 4,00,000

Q.4

TSGR ¥ MY T G4 & | 39 ST, ™l Yq <18l @l quie Iy |

What do you understand by Amalgamation? Explain its objectives, advantages and
disadvantages.

Q.5

A 9l gU Ml B AT S DI G & 2 GHGd [ICeT 9 I3R! TART DY fhaT S
g ? U JETERV QIR WE BT |

How are unrealized profits calculated? How are they used at the time of preparing
consolidated balance sheet? Explain by taking an example.




Govt. J. Yoganandum Chhattisgarh College, Raipur
Autonomous Cell
Special Examination-2020
Assignment Questions
Class — B.Com.Part-II
Paper-I1
Cost Accounting
M.M.:25

Note : Attempt all the questions and each question carries equal marks.

Q.1

NI oI & Sgaedl ®f fademr $ifore?

Discuss the objects of Cost Accounting.

Q.2

g IIoTHT UG A9+ gIoEr § &7 3fdR &7

What is difference between Halsey Plan and Rovan Plan.

Q.3

e foell PREM & HREFT SURTI BT U 1 Aol axeR 4 el & qol
2 BRATT IR 1 2fqe § T [T FRGET IURTY H. 60000 & T I 600
£PIedl, Bl 300 Sl v Sfaet 60 gl @1 i g ¥ At ue axg
W fba R SuRegy &) gy |

If the factory overhead of a factory is in ratio of 1 table is equal to 4 stools and 2 chairs are

equal to 1 table. The table expenses of factory overhead is Rs. 60000. If 600 units of stool, 300
units of chairs and 60 units of tables are manufactured what will be the distribution on each

type of production.

Q4

YR SATE TAT IUIITS | 319 FIT FHSA & | 399X Wfara fewofy forRkag |

What do you mean by term joint product and by product? Write a brief note an them.




(2]

Q.5

71 e @ wwfass fasg @ o Fifvrg —
JATeT  — 3000 §HTSAT

faspa qeg ufa S — 30 ©
aRaTed STa Ui b1 — 20 %.

gl ReR &g — 20000 %,

From the following information calculate breakeven point —
Output — 3000 Units

Selling price per unit — Rs 30

Variable cost per unit — Rs 20

Total fixed Cost — Rs. 20000




Govt. J. Yoganandum Chhattisgarh College, Raipur
Autonomous Cell
Special Examination-2020
Assignment Questions
Class — B.Com.Part-I1
Paper-I
Principles of Business Management

M.M.:25

Note : Attempt all the questions and each question carries equal marks.

Q.1 | ygg @I YRHT QY TAT S0 YT 1T BT quie HIfoTg |
Define management and discuss its main functions.

Q2 | I & T IeT &7 It @) ARl &1 qufe BT |
What are objectives of Planning? Discuss the limitations of Planning.

Q3 | X |3 Bl WHSISY AT SHS 0T Q16T @) fAda=T B |
Explain line organization and state its merits and demerits.

Q4 | YUY T 87 AU I YHIFAT B dTel TShHl Bl quie BT |
What is Motivation? Describe the factors affecting motivation.

Q5 | Frgavr & Heed T ARl @1 fadaer eifog |

Discuss the importance and limitations of Control.




Govt. J. Yoganandum Chbhattisgarh College, Raipur
Autonomous Cell
Special Examination-2020
Assignment Questions
Class — B.Com.Part-II
Paper-II
(Company Law)
M.M.:25

Note : Attempt all the questions and each question carries equal marks.

Ql |/l b YRWIMNT $¥d U WIgde HH AR Ufeld HW § IR W
PHISTY |
Defining a company distinguish between a Private and Public Company.

Q2 | gre drifes g erafad ® &ar 3fax 8°?
What is the difference between memorandum and article of association?

Q3 | prHl SR am & Harcid! & Fgfad | arfRrd uraurEl @) AR BT |
Explain provisions Companies Act regarding appointment of directors.

Q4 | ¥ | AT JATIY 2?7 ¥ B AT fhae UBR &1 slal 82
What is meant by a Meeting? Hhow many types are Company Meetings.

Q5 | P & WHIYT A MY FIT AT &7 IIIDHRUT GHIUT b B Faell 57

What do you understand by winding up of Company? When can the Tribunal do winding up ?




Govt. J. Yoganandum Chhattisgarh College, Raipur
Autonomous Cell
Special Examination-2020
Assignment Questions
Class — B.Com.Part-I1
Paper-I
Business Statistics

M.M.:25
Note : Attempt all the questions and each question carries equal marks.
Q1 | %=1 HHPI | wAeadT S BIRTY :
Calculate Median from the following data :
Marks 0—10 1020 20—30 | 30—40 | 4050 | 50—60 | 60—70
Students 15 25 52 56 78 80 70
Q2 ||UT & 100 WSWI BT Y & ATAR g [HfIRId © SUDT YA [Jae
3R T[UTieh I BT |
Following is the distribution of 100 members of parliament. Find the standard deviation and its
coefficient.
=lbd (Emc i ) 30—40 | 40-50 50—60 | 60—70 | 70—80 | 80—90
(Age in Years)
@ 3 51 25 5 9 7
(No. of members)
Q3 | 7% sl W AR # 70 & Jo & I Qochl # AgaH WHIA Hed SITd

BT

Find the most likely price in Delhi corresponding to the price of Rs- 70 at Agra from the following :

SR (Agra) |am|(Delhi)
HIET Hod (Average Price) 65 67
UHTT f%la?fl_"f(Standard Deviation) 25 35

ST XU $ Al H HEAdY ol

(Coefficient of correlation between the prices of the two places + 0.8




UiRdiRe goie Al &1 WART @A gU o 1990 bl AR ¥ HIHHY eI
Jipel W I 1995 & forw Sftaw fyafe @y Fdernss a0 wa=m SR -

Construct the cost of living index number by using Family Budget method for the year 1995 with

1990 as base year from the following data :

ae g & | e I 3T (6. )

Quantity in Units Price per unit (in Rs.)

1990 1990 1995

a 50 s -
. 100 2 5
¢ 60 4 6
i 30 10 12
: o0 8 12

U Icl § 5 olcd, 8 ABS, 10 PIN TAT 4 el A & | Ub g AGRBD ©I
R Pl T 8, WA sTa BRI 5 Frere T e (@) Tee BE @

el B, (@) AT AT IHe B

A bag contains 5 red, 8 white, 10 black and 4 blue balls. Find the probability that the ball drawn is

(a) a white or black or blue ball, (b) a red or white ball




Govt. J. Yoganandum Chhattisgarh College, Raipur Autonomous Cell
Special Examination
Assignment Questions
Class — B. Com. Part-II
Subject — Fundamentals of Entrepreneurship
Paper-II
M.M.:25

Note :

Attempt all the questions and each question carries equal marks.

Q1 | Senfiar & a1 R &, Jenfier 3 ygir & faaeT i |
What is meant by entrepreneurship? Discuss entrepreneurship nature.

Q2 | SeM ol &1 3 §ef1SY, IeM Goll UI BRI & [ofU AI4D (A= Yoral &1 ey & qore
BIFTY |
Explain the meaning of Venture capital, describe in brief the various documents required for
obtaining venture capital.

Q3 | IR | 31U o1 G © 7 TAAR P (NN B T BT |
What do you understand by Innovation? Explain the characteristics of Innovation.

Q4 | el fadrg PRiFH Ierdl B HaRe @1 gfhar & | FHER |
“Entrepreneurial programme is a process of grooming entrepreneurs.” Explain.

Q5 | “Se 3% & oMK @ SR BT o Fl BT & W

“Entrepreneur is generator of employment opportunities in country” Explain.




